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GBaryra Gl FeAAGTRI, Tha-a AT |

TRl TebeT 7 &l @l Tt 7o & I Ghd H &1 ford |

Answer all questions in Sanskrit, unless instructions are given otherwise.
ST TTE TR GUeT: A |

T U0 § AR @S ¢ |

There are four sections in this question paper.

aTqfadieT _W\(m’ _aaaﬁazr) 15 ==t

Unseen Reading Comprehension

G TeHTHhoTE T (H5hd H TS o) 15 ==t

Writing Skills in Sanskrit

TSR — STEare Thaaecd IR=a: o 40 + 10 = 50 =T
(UTSTATTT — 3TEaETE e Gha Hiieed Ua)

Reading Comprehension & Introduction to

History of Sanskrit Literature

FRISTSHN: (B TIH 3TcTghR) 10 + 10 = 20 A=

Metres and Figures of Speech



Tug: & (Section A) 15 =t
HUTSATI — AT
AUFSATIN — ST

Unseen Reading Comprehension

1. smifeiiEas Tesegd diew TaaM TR §&had StRd |

freferfiad ST ST=at it Uge ST T ueet & 3T Eehd | T |

Read the following two passages and answer the given questions in Sanskrit.

() "gw: 317\!@?:

9@ ¥ 3@ 9 AFeSiaTE e o wafq | wistt wgs: weie 3%

FeBId | T ST ST S JHG | ST e R — 3 g
SUTAT: T HeIRT ST qHe foermd T 9 STRTATed a SUR, | v | Sieee
I Ui TS A 1 F9si | o TaH A St aq S I o
A | W AT o Tohadd a1 St 3 forot; TTe o gHetse i | 5

o (A o o
LFATEIARId gbeal Hdl Hidq lelld |

73

(37) THURH IR | Yhx2=1
U 9 § I ST |
Answer in one word.
() OIS weied o =i 2

(i) T HH I T ?

(@)  qoTETRH I | 2
U7 TR | IR T |
Answer in a complete sentence.

T foasE=: {6 weafa 2

(@) TS IRA | 1ax4=2
FATI ST T |
Answer as directed.
() ymf=T =i fRame g T ?
(i) gAY 3T USw foh foetasH o7 v ?
(iii) T I AR HH T ?

(iv) ‘3T 3 ooy foersd fee 2
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@ fadfta: s
IR WA 39 S | W 9RAE Wiaeet 9Rd I T SRt o
FA | ARAR UTFael IRG e Aol T ReRy ST ifd | STcshargias
TRIRAT HEd TR TETFHI0T Jgaired SISl &9 | RS Tosf: St 3emed
e HEE afavd veareTe: SET: Fa: | SR SIET ST ST
TorfeRIfoT FeeT ST | IRT Wiqelfe: g8d 31 W T9R: 31ad |

AT
(3 THIST ST | 1x2=2
TS I | IR RIS |
Answer in one word.
() 9Rd F& oy AT 2
(i) YR higem: 330 A& 2

@) YUER S | 2x1=2
U7 TR B 3R T |
Answer in a complete sentence.

AR FHAOT fob e 2

@) FAFASIH IR | 1x4=4
FHEE 3 T |

Answer as directed.

(i) et 3fq framew g fee ?
(i) HHET 3 uee foeteg e ?
(iii) “F=gamar.” 3 Us foh FEMTE o1 T 2
(iv) |t 3 fommoore for R 2

@) T SFTDTH Fd IUGH W Gpe forad | 2
T ST h [o1T YT I H&he H felfay |

Write a suitable title for this passage in Sanskrit.
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gue: G (Section B) 15 =
HEHAT TR
TG | TS G

Writing SKkills in Sanskrit

2. HoSI: SfaaugSha TR STHiferad wu e 3 foaed | 1x10=10
TS § 3T HEehd oot HHTAEd el S T ek I: Ty |

Complete and rewrite the following story, with the help of the words given in the box
below.

HAT :

PRAT A TR PR T ) dugem, adiq @ | dided @ i

SPLEATGAIUTTH (ii) YT T | Tohel Ueh: U T (iii) ﬁ@ﬂ@m“é

T | A e aFh T (jy) SN A T PR e S | F W

(v) IS | TR Al T TR ITE | ST Eihd TR gl H:

FOF: SORAAA FOE FH T (5 @ | Fey fafrer pmoafa oo o@
SRwEToeR: e Al Y Uk GAERUe R W T (g | S T S
T (vii) | O OO, HeR R | R o o e T g0 P | T
WWquﬂaﬁn

HS{H T

(=N

TEHRY, FUH:, SATH AT |
1)

3. oo USRI feen et 3id fovay sty aee s Seho forad | 1x5=5
TS | U8 AR el o W S | uie a1 fefaw |
Write five sentences in Sanskrit on ‘Deepawali’ with the help of the words given in
the box below.
HS(®T

(=N

3cqa:, faferan, aRaay, s, g, goae, e, 9fes:, gad, 33,
IR, TG, WL, STATeAm, foora:, erewe, faert, famf< |
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gug : T (Section C) 40 + 10 = 50 =T
TG — Faata= Spauleae URed: 9
TTSAT — SFaata Ud U&ha Aifeed URad

Reading Comprehension & Introduction to History of Sanskrit Literature

4, e eI, U, el o uiden ey Wb 3TRd |

TG TITRT, WET T ARt i Tgah 19T 71T UAT & STY §ehd | &Y |

Read the following prose, poetry and drama passages and answer the given questions

in Sanskrit.

(%) T
TRIRTGTRTIAAINGIY | FHURIaRsays: o o Mg RHTEHNaH STEaa—amta
o= +d IJEIE: aeRga™ — | g5 | fakda-afsaeremid-
RIS o AeIIIeReAad | Hhaet 9 Ed uaniaTed ad deemes |

SIROTHIGRET SREoT e S 17

(37) THIRA S | Vix2=1

Answer in one word.
() ST T AN Fesid & 2
(i) & TSI IUSTH TI=q ?
()  qoTETRH I | 2
U7 e B 3R 6T |
Answer in a complete sentence.
FreueTe T HigeT Hard ?
(@) T SR | 1x2=2
RRIEEN ISR il
Answer as directed.
(i) ‘IouT 3fq fereroTase favrsus foy 2
(i) ‘oTfeser 3id HRAUEE Fqds f6Y ?
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(@) 9EH:

Answer in one word.
() T T fogamus fohe ?
(i) W o wEEag e 2

“TTIAHHIOT ferem faffhed Se-msam: |
Tororod: watast wamt foguot gRHuvaET |17
URAT:
(3) THIEA I | Vix2=1
T 31§ ST (T |
Answer in one word.
(i) OTETHEHE] o AT ?
(ii) =TT BEH fohAre ?
(@)  YoiEmeRe TR | 2
U7 T B 3R T |
Answer in a complete sentence.
HI 5 forquot syaifer 2
() FAHIIH IR | 1x2=2
FAE IR AT |
Answer as directed.
() JEaEn’ g 6 qaEeRy ?
(i) =T 37 foretiug o 2
(m e
“ TGl e o | (FONEe TEen W) e F
TR RIS § gRa: |
g S | ST dERE | (TS TRIE) 3T, T el Aieerseee
B, FHoTETH-TERANGAT @R T THIRHTEIT | ST | I
o FEYUSIHH |
(g, e, wamrgan) T | T gwate o faget
TEHTT ST ¥ geat JEa=uny gag@d 17
LRI
(37) THIRA I | Vix2=1
T ¥ § S AT |
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@) guiaERE WA | 2
U7 e B 3R 6T |
Answer in a complete sentence.
TG Y TATGHIERIT ?
() I IR | 1x2=2
JTSET TR AT |
Answer as directed.
(i) ‘@A 7= a6 2
(i) T 3T WIS HE UTHT ?

5. TR HeArac forad | Vax4=2
YT A 3T F A ek feAfay |
Match the words with their meanings and rewrite the same.
IR 37
(30 =R (i) S
@) ofEEE i)  wE
@) MNP (i) wER
® ued (iv) AT
6. TENSHAURI 3T TRATHIT Ho | 1x4=4
TEIgshd URT o TR WX J9-FH707 HifT |
Frame questions on the basis of the underlined words.
(i)  TEHIY: e Tiher: el |
(ii) P e Wi |
(iii) STHFHC! THE SoraRieEfa; s |
(iv) STETTEHE: S&I0MET Ao |
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STTATEaHTETAT: Reeafd AesTIuggerdeaT el forad | hx12=6
freferfaa gt et o gor | U T 93t it werErar 9 e weE @ gia s faran |

Fill in the blanks in the following two explanations with the help of the words given

in the box and rewrite the same.

(3N “MEATRAHE Tl Afcshodd ST ST |
T RIS WY T HeAREgT |17
e
aq fepfomef afem — () e aqEEn T (5 AT | SR SR ad

Qi) CHEA T Gy VETE T () EEA AT ()
@) “TRRTERIA SeEaRa’l 5 ;|
T 0T Fod AL |17

T
e TGy SR A WSEM () I F GO Weld | s
A FRR () I SAL T SHT | T gy A fomd
ATHSTAT () AW WA LT () @it |
Ao
ZRER0T, TSI, I, A, P, Foo:, ST,
THTORET, ORI, Faf, SRR, HOE: |

TG sTlRal: STaagd Raemgid $od | 1.5+1.5=3
ffeiad g serent & stodl § e ST &l 9fd ST |
Fill in the blanks in the following prose-order-renderings of the two verses.
(3)  “Tqamdr AMHTHT g
i e |
HCATTAT AMHIHAT &
TS T FeraIarg e |17
A

e T () AR SO W WA T gEH | o e ;) O

SEANH (5 o AT S
@) g A aHaAfE T |

e FATRRH TS |

T TIAERMY G

U TAIhE B qEET | [
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A
T | He A A Sefe | o T gy ST el ST | I
T AR~ 55y A FoAd |

AR I |
AT I AT |

Answer as directed.

(30 FYUS HATIE 7 foa |

C))

®)

Q)

Fal Td foRaTIg 9T |
Select the subject and the verb.

() U oA Ao |

forereoT 0% 9T |

Select the adjective.

(1) IR Gc] PHR: |

(i) TEd ua SAfaes aHt e |
STfARETIGHRAT: TEIhTaaTHTS i TG 2

Frfetfad dfsar o Y@iferd-ge-m g foheh foe uge & 2

In the following lines for whom the underlined pronouns are used ?
()  THCHUIHETE: F T A fead |
(i) T AT Temieas S T IR oheel Huaid & |

FTARGTSIFRTAT 3" T A, 3 T8l FHAMER 08 o forad |
Frefeiad dfeaal § 9 ‘3Pa qE ‘I T ST & qHMIEE U8 g fofau |

(ii)

»BXxX4=2

1x2=2

1x2=2

1x2=2

Select and write the synonyms of the words ‘3P and ‘@’ from the

following lines.

() e T U TR AT e TeasvgTEi et o |

(i) SEE AT a7 J& TFuSaHT ST |

% T FHA ?

i fHah! % @ E 2

Who is saying this to whom ?

(i) o T, TAEET o STeAaed A fashudedy st I’
(i) TG TF et ISHRISSI 1

10

,xX4=2



10. (37) SETATEACTEHHT HRMY The HIA A1 fo@d | 1x5=5

frfetaa et & fdt U e = 9 fafaw |
Write the name of any one work of each of the following poets.
AR, STUTAE:, TRTAT TG, ST, W |
(F)  STHTAGAREAAT TG AT [T | 1x5=5

fr=fafad et o d@et & AW fdfEy |

Write the names of the authors of the following works.

SARTANTH, HeTHRAH, THE-STH:, ITHT07-6w=T, Ffereraee |

@ueg: T (Section D) 10 + 10 = 20 ==
TRISTASHR:
B TaH ATEhIT
Metres and Figures of Speech
11. (37 U I | 1x2=2
TET % I T |

Answer the questions.
(i) Tommam &= =t o ?
(i) Y T Y ;A TY: TE: AT ?
@) TR I | 1x4=4
frefeiaa aRemraT & 9 ST |
Complete the following definitions.
() AT ATATCAR X

(i) gawEE IgAtashitedy I

(iii) =9 ATt fifiTeticr: 17
(iv) ‘STt geverEid v
@) TR U 9<9; 3aedvi forad | 2

frfefad o @ foodl U 55 1 33760 fef@n |
Write an example of any one of the following metres.
Y, ARSI |
® oTefciadugsar: 6 6 53 ? 1x2=2
et dfsar o SiF-sE @ 83 8 ?
What is the metre in the following lines ?
()  ETEAHHR faEEr

(i) ‘TwETTE FBld foqe ded garEsEy
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12. (37 SHiTRETE FRTRHE TRAGHRE FEE0T T o | 3

frefeiad § ¥ Tl U IRTAGHR T TR0 AeT0T feafaw |
Write the definition and example of any one of the following figures of speech.
FHFH, I |

@) FHEIIHE AR ARV 7 forad | 3
Tohell U STATCIZEHR T TT&T0T TS 30T Ty |
Define and illustrate any one of the figures of speech.
ST, IeT |

@) oTfeEdTgTEr: STegHr MR | 1x2=2
FrefetEd dfeai & STeTgehr o1 59T T |

Indicate the figures of speech in the following lines.

() T R 7S O oA
(i) TH STeAvsr Hatfudr gfaqresta 1

@ TefRaqureegd w®ad | 1x2=2
fefefEd gt aReTeTsti & qot ST |

Complete the following definitions of the two figures of speech.

() IR ... i
(i)  HTEATET .. ... erarccilk
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